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Solving Radical Equations Example

Example: Find solutions to the equation:

VX2 +x—-2=17
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Example: Find solutions to the equation:

VX2 +x—-2=17

to undo the square root, we Square both sides:
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Solving Radical Equations Example

Example: Find solutions to the equation:

VX2 +x—-2=17

to undo the square root, we Square both sides:

Vo2 fx—2° =72 =149
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Solving Radical Equations Example

Example: Find solutions to the equation:

VX2 +x—-2=17

to undo the square root, we Square both sides:

6x2 +x —2=6x2 + x —2° =72 =49
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Solving Radical Equations Example

Example: Find solutions to the equation:

VX2 +x—-2=17

to undo the square root, we Square both sides:

6x2+x —2=boxZtx —2 =72 =49
So, we are left with the equation:
6x% + x —2 = 49
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vbx2+x—2=7
to undo the square root, we Square both sides:
6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:
6x% +x —2 = 49
Subtracting 49 from both sides
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vbx2+x—2=7

to undo the square root, we Square both sides:

6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:

6x2 +x —2 =49
Subtracting 49 from both sides
6x2 + x — 2—49 = 4949
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vbx2+x—2=7

to undo the square root, we Square both sides:

6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:

6x% +x —2 = 49
Subtracting 49 from both sides
6x2 + x —2—49 = 4049 =0
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vbx2+x—2=7

to undo the square root, we Square both sides:

6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:

6x2 +x —2 =49
Subtracting 49 from both sides
6x2 + x — 51 = 6x% + x — 2—49 = 404G = (
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vbx2+x—2=7
to undo the square root, we Square both sides:
6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:
6x2 +x —2 =49
Subtracting 49 from both sides
6x2 + x — 51 = 6x% + x — 2—49 = 404G = (
Leaving use with:
6x2+x—51 =0
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vbx2+x—2=7
to undo the square root, we Square both sides:
6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:
6x2 +x —2 =49
Subtracting 49 from both sides
6x> +x —51 = 6x% +x —2-49 = 4049 =0
Leaving use with:
6x2+x—51 =0
this using the Quadratic Formula to get:
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vbx2+x—2=7
to undo the square root, we Square both sides:
6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:
6x2 +x —2 =49
Subtracting 49 from both sides
6x> +x —51 = 6x% +x —2-49 = 4049 =0
Leaving use with:
6x2+x—51 =0
this using the Quadratic Formula to get: x = —3, %7
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vbx2+x—2=7
to undo the square root, we Square both sides:
6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:
6x2 +x —2 =49
Subtracting 49 from both sides
6x> +x —51 = 6x% +x —2-49 = 4049 =0
Leaving use with:
6x2+x—51 =0
this using the Quadratic Formula to get: x = —3, %7

Conclusion: The solution to V6x2 +x —2=7is: x = =3, %
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vbx2+x—2=7
to undo the square root, we Square both sides:
6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:
6x% +x —2 = 49
Subtracting 49 from both sides
6x2 + x — 51 = 6x% + x — 2—49 = 404G = (
Leaving use with:
6x2+x—51 =0
this using the Quadratic Formula to get: x = —3, %7
Conclusion: The solution to V6x2 +x —2=7is: x = =3, %

Checking x = —3 we get:
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vox2+x—2=7
to undo the square root, we Square both sides:
6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:

6x% +x —2 = 49
Subtracting 49 from both sides

6x2 + x — 51 = 6x% + x — 2—49 = 404G = (
Leaving use with:

6x2+x—51 =0
this using the Quadratic Formula to get: x = —3, %7

Conclusion: The solution to V6x2 +x —2=7is: x = =3, %
Checking x = —3 we get:
V6(-3)2+(-3) —2= V49
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vox2+x—2=7
to undo the square root, we Square both sides:
6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:

6x% +x —2 = 49
Subtracting 49 from both sides

6x2 + x — 51 = 6x% + x — 2—49 = 404G = (
Leaving use with:

6x2+x—51 =0
this using the Quadratic Formula to get: x = —3, %7

Conclusion: The solution to V6x2 +x —2=7is: x = =3, %
Checking x = —3 we get:

V6(-3)2+(-3) —2= V49

=7
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vox2+x—2=7
to undo the square root, we Square both sides:
6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:

6x% +x —2 = 49
Subtracting 49 from both sides

6x2 + x — 51 = 6x% + x — 2—49 = 404G = (
Leaving use with:

6x2+x—51 =0
this using the Quadratic Formula to get: x = —3, %7

Conclusion: The solution to V6x2 +x —2=7is: x = =3, %

Checking x = —3 we get: Checking x = % we get:
V6(-3)2+(-3) —2= V49

=7
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vbx2+x—2=7
to undo the square root, we Square both sides:
6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:
6x2 +x —2 =49
Subtracting 49 from both sides
6x> +x —51 = 6x% +x —2-49 = 4049 =0
Leaving use with:
6x2+x—51 =0
this using the Quadratic Formula to get: x = —3, %7

Conclusion: The solution to V6x2 +x —2=7is: x = =3, %

Checking x = —3 we get: Checking x = %7 we get:

V6(-3)2 +(-3) ~2= V49 Vo524 —2= a9

=7
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Solving Radical Equations Example

Example: Find solutions to the equation:
Vbx2+x—2=7
to undo the square root, we Square both sides:
6x2+x—2=6x2+x—2 =72 =49
So, we are left with the equation:
6x2 +x —2 =49
Subtracting 49 from both sides
6x> +x —51 = 6x% +x —2-49 = 4049 =0
Leaving use with:
6x2+x—51 =0
this using the Quadratic Formula to get: x = —3, %7

Conclusion: The solution to V6x2 +x —2=7is: x = =3, %

Checking x = —3 we get: Checking x = %7 we get:

V6(-3)2 +(-3) ~2= V49 Vo524 —2= Va9
=7 =7
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